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Instructions :

1. The Question Paper is divided in five Units. Each unit carries an internal
choice.

2. Attempt one question from each Unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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(Z&TE I/Unit )

1. (@) FAfed & fafu= gl #1 F9emsu)

Explain different types of errors.

(b) Twfen wEe iR afae AU & HeF fa¥e w T wifsu )

Differentiate between floating points and real arithmetic.

(31UdT/Or)

2. (@) FFFR W TS & THARO HI HEAGH H T HIGT |

Describe how to represent the numbers on computer.

(b) HFXR W HEA & TR Kl FHEGE Dl TR RO

Describe how to represent a function on a computer.
(@8 II/Unit II)

3. (@) TIen-wreH fafy g0 x2_9x4+1=0 N aqlo® HA FG DT

Find a real root of the equation x2_9x4+1=0 by Regula-

Falsi method.

b) Trm = m=E foeimm fafy 9 z@ =SS .

Solve the system by Gauss elimination method :

2¢ + vy + 4z 12

4 + 11 - z

33

8 — 3y + 2z = 23

4061 2

http://www.mcubhopal.com


http://www.mcubhopal.com

4061

(a)

)

(a)

)

(a)

(F41/Or)

ferma &1 MeE-Sreq fafy 4 ' wifaw

Solve the system by Gauss-Jordan method :

X+ 2y +z =8,
2x + 3y + 4z = 20,
4x + 3y + 2z = 16.

Seprsit gt fafa & wwemEw)

Explain Jacobi iterative method.

(F&%E II/Unit III)
frpra 1 TeE-dea fafy ¥ '@ wifsw .

Solve by Gauss-Seidel iterative method :

27Tx + 6y — z = 85,
6x + 15y + 2z = 72,
x +y + 542 = 110.

frfafed aroft § o[ 9% 1 9H @ FiNT
Find the missing term by the following table :

X F(x)
1 7
2 _
3 13
4 21
5 37

(31UdT/Or)

ser fafr @ (0, 4) I wifse afg

ﬂ=xy,y(0)=1,h=0.1,

dx

Use Euler method to find y(0, 4) from the differential equation :

d
dx
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Y xy, y©)=1,h=0.1.
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(a)

b)

(a)

)

Tyfeel-Fiax fafy #1 EuURm & T HifST|

Explain the concept of predictor-corrector method.
@&E IV/Unit IV)
e FENfed s ¥ it

Explain Euler’s modified method.

Tz fafa g sa =wifsw
Using Runge-Kutta method solve :

dy _y?-x?

dx_y2+x2 with y(0) = 1 at x = 0.2

(3AdT/Or)

frerrg fafy @ sa =wifSC -
Solve by Picard method :

D2y, =1,
dx

e fafy g & aﬁﬁm ST
ﬂ=1+ny,y(O):1
dx

for x = 0.4, 0.5

HQJTﬁ'&IT%:

Use Milne’s method when :

ﬂ=1+xyz,y(0)=1
dx

for x = 0.4, 0.5 and it is given that :

x y

0.1 1.105

0.2 1.223

0.3 1.355
4
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(a)

)

(a)

b)

(FHTE V/Unit V)

AT STahel THIHIOT ki STAYRON i THIEU|

Explain the concept of partial differential equation.

RICE
Given :

X F(x)

0.1 1.10517

0.2 1.22140

0.3 1.34986

0.4 1.49182
d, d?
D qon T g wm wm B AR = 04,
dx dx?
.. dy d?y
Find I and 2 at x = 0.4.

(3121E/Or)
0%u  160%u
HHIHTOT %2 - oz M= luptor = 125 w1 'TA BT
w0, ) = w5, t) = ut(x,0)=0 N u((x,0)=x2(6-x) & T
o%u  160%u N

Solve 22 o2 taking A = 1 up to ¢ = 1.25 under the conditions

u0,t) =u (B, t) =ut (x, 0) = 0 and (x, 0) = x2 (5 — x).

Tihled Aahd THIHIU I GHSTSU |

Explain stochastic differential equation.

http://www.mcubhopal.com


http://www.mcubhopal.com

